: 2,900 EXERX

o
o
o)}
o
o
o

(@] fe} fe} (@)
[e0) [ee] i 2 o o
™ ™ ™ ~
+ 138° 56" 0° + + 138° 67 10" +
‘ ‘ = VIl—DE 09-2
o0-7
30-3 /gﬁf%
/65f1 00-2
DF
P
09— 09-4 | 00-3 00—-4
#om ™
DE
V 19-1 19-¢ 10-1 10-¢
= ]
o =2
A372 = B =&
] ] =ann
m 26.62 X # &
SBREVERE
:B =352y © 423 FrzmEs®
ARERKR
v 356 TZgi)
— AR EREX
] E3s5mme ® 2673 T x# &S
______ KNa720 mzm%s
5 ] samee 123 REEELEL
5 O 15.8 H AT
! Lo CEIEBR
57 E od)o 5T 2 & =]
& VAN T | 1 B P
A B B 1 5 "
& B 2 0 2 2 B
® s & B 2 i &
¥ AMERS 2 % & @
X xE - BER + 73 5
v Ho®m B - R =
® REZET TV~ hvEL-o#i0
@) gaxpmrd 0 MRt (73
H # # P T ($1EE)
=] % 5 o A - A 2H
+ FURNHER 4 £ = #
X * % O 5 v 4
@ $HE - REE il & 2
+209.5 +209.5 ® ARY - ARM o o & 5
m EAK = L & | ® &
® ® @ R bo A B
% B o1t 4T &
a R 17 B Kt &8 R AT
® B @ M8 A @ ) =
@ B I m A o
PR D < ENO - ERO
o I b= ly BRR R
| & z @8 R A
2 BEAK YT =] ral EQ
DU ZIUR T - TSRS
&S AUV RIUR [ iy A o
® BOoZm B . B ® &
A A [ n =
HOEOE X _— i E % oB
=]
sl S "ok B
S #
—_ — — ¥ 2 WL
T TR oEE TRERT] RRTOHKE
——————— £ % ®
. = DN SN
_(BRYP) BRYOER RUEB®RS
T b SRR = % 8 B
—LL— s = & — T HEOSELF
ToTTeT # = = mom % &
- 5
i[”Pﬁ“ﬁilé% ——— RU B
- BROSENE
R *
. E 8 %
T b,
A ®NBE | B & =
T+ ] ———— ¥ R
- - = I=] R __BI *‘T N ﬁ
s | —o——— & KRR EESTOER
. i ———— BEOEFR  — ———— AT E(TR
————— BT ESORR  -—— —% B R
I ¢}
)
M RHE “ [
n 5 O
v ° zomo|
+209,0 v . o x| ih % &
» rs »
« o i A\
. Sowm 2 it W v [E{AY/S: ]
? A+ oz =
Y N
JlTnE . o8 R Lok
XY A st ¥ T DLURA
% 8 o
" A A B R T s
N
x 8 S B
o N
5
0 °:§:°:°£g::° %00g
o 0 9888295598522
© I
[N o82882285020803°
® 005555055505:&
BEREFER T AFEIRBEBEREITDREICLD
EMEER. FHEBBEEIERAMRICLD
ST AN LR
MF(CFRRL CTHDEEBIEFOA—NJLEAT
ZARE O, BFrOX—KN LR
MFFCERRL CHDIRBEERES 1| OMNERE
STOREEFRREDFER
EFSROEME2 X =~
.07 s
+208.5 ‘ ;
o 138°66° 0" w0 138° 67" 10°
@ [e0]
[¢] [}
+ +

SR 27 ERE 1. FR26%F 4ABRKLPER 1:2500 TZORBRRE. BLHBREONEESICHEEDTH D S Om M o =] T V”I—DE 09—2
2.¥M27E OARHBE = (HWEHBT) T27 k2 £48 %5,

T 200 800 400 500m e # R 4 # /X 23




